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Comprehension:

The following table shows the percentage (%) increase in income and expenditure of various types
of Banks, namely PSU Banks, Old Private Banks, New Private Banks and Foreign Banks over the previous
year during the year 2021-2022 and 2022-2023. Based on the data in the table, answer the questions
that follow :

Income and expenditure details of Banks

Percentage Increase in
Bank type Income over previous year |Expenditure over previous year
2021-2022 | 2022-2023 | 2021-2022 2022-2023
PSU Banks 15% 17% 13% 22%
Old Private Banks 20% 14% 15% 17%
New Private Banks 44% 37% 42% 4%
Foreign Banks 9% 12% 4% 11%
Note : In the above table, the meaning of any figure x% is as follows :
() x% in 2021-2022 means income or expenditure in 2021-2022 is x% more than that in
2020-2021.
(1)  x% in 2022-2023 means income as expenditure in 2022-2023 is x% more than that is
2021-2022

SubQuestion No : 1

Q1 In 2021-2022, if the income of PSU Banks is twice the expenditure of Foreign Banks, then in 2022-
2023, what will be the ratio of income of PSU Banks to the expenditure of Foreign Banks ?

(1 1:2
2) 78:37
(3) 75:29
4 2:1
Options 1. 1
2.2
3.3

4.4

Question Type : MCQ
Question ID : 53307219436
Option 1 ID : 53307275713
Option 2 ID : 53307275714
Option 3 ID : 53307275715
Option 4 ID : 53307275716

Status : Answered

Chosen Option : 2
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Comprehension:

The following table shows the percentage (%) increase in income and expenditure of various types
of Banks, namely PSU Banks, Old Private Banks, New Private Banks and Foreign Banks over the previous
year during the year 2021-2022 and 2022-2023. Based on the data in the table, answer the questions
that follow :

Income and expenditure details of Banks

Percentage Increase in
Bank type Income over previous year |Expenditure over previous year
2021-2022 | 2022-2023 | 2021-2022 2022-2023
PSU Banks 15% 17% 13% 22%
Old Private Banks 20% 14% 15% 17%
New Private Banks 44% 37% 42% 4%
Foreign Banks 9% 12% 4% 1%
Note : In the above table, the meaning of any figure x% is as follows :
() x% in 2021-2022 means income or expenditure in 2021-2022 is x% more than that in
2020-2021.
() x% in 2022-2023 means income as expenditure in 2022-2023 is x% more than that is
2021-2022

SubQuestion No : 2

Q.2 In 2021-2022, if the income of Foreign Banks is four times its expenditure, then what will be the
approximate ratio of income to the expenditure of foreign Banks in 2022-2023 ?

L 1:4
(2 4:1
(3) 5:1
@ 1:5
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

McQ
53307219437
53307275717
53307275718
53307275719
53307275720
Answered

2

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode 1//2083024300/2083024300S28D240240/17254301583242816/...

2/99



9/12/24, 11:14 PM cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode 1//2083024300/2083024300S28D240240/17254301....

Comprehension:

The following table shows the percentage (%) increase in income and expenditure of various types
of Banks, namely PSU Banks, Old Private Banks, New Private Banks and Foreign Banks over the previous
year during the year 2021-2022 and 2022-2023. Based on the data in the table, answer the questions
that follow :

Income and expenditure details of Banks

Percentage Increase in
Bank type Income over previous year |Expenditure over previous year
2021-2022 | 2022-2023 | 2021-2022 2022-2023
PSU Banks 15% 17% 13% 22%
Old Private Banks 20% 14% 15% 17%
New Private Banks 44% 37% 42% 4%
Foreign Banks 9% 12% 4% 1%
Note : In the above table, the meaning of any figure x% is as follows :
() x% in 2021-2022 means income or expenditure in 2021-2022 is x% more than that in
2020-2021.
() x% in 2022-2023 means income as expenditure in 2022-2023 is x% more than that is
2021-2022

SubQuestion No : 3

Q3 Consider the income of new Private Banks in 2021-2022 as T 8000 Crore. If the expenditure of
new Private Banks in 2021-2022 is same as their income, then the difference in income of new
Private Banks in 2021-2022 and 2022-2023 will be approximately % of the difference
in expenditure of new private banks in 2021-2022 and 2022-2023.

52

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 53307219435
Option 1 ID : 53307275709
Option 2 ID : 53307275710
Option 3 ID : 53307275711
Option 4 ID : 53307275712

Status : Answered

Chosen Option : 1
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1)
(2)
3)
(4)
Options 1. 1
2.2
3.3

4.4

Note :

Comprehension:

The following table shows the percentage (%) increase in income and expenditure of various types

Income and expenditure details of Banks

Percentage Increase in

Bank type Income over previous year |Expenditure over previous year
2021-2022 | 2022-2023 | 2021-2022 2022-2023

PSU Banks 15% 17% 13% 22%

Old Private Banks 20% 14% 15% 17%

New Private Banks 44% 37% 42% 4%

Foreign Banks 9% 12% 4% 1%

of Banks, namely PSU Banks, Old Private Banks, New Private Banks and Foreign Banks over the previous
year during the year 2021-2022 and 2022-2023. Based on the data in the table, answer the questions
that follow :

In the above table, the meaning of any figure x% is as follows :

() x% in 2021-2022 means income or expenditure in 2021-2022 is x% more than that in
2020-2021.

() x% in 2022-2023 means income as expenditure in 2022-2023 is x% more than that is
2021-2022

SubQuestion No : 4

Q.4  Consider the income of PSU Banks in 20202021 as ¥ 10,00,000 crore. If the expenditure of PSU
Banks in 2022-2023 is equal to the income of PSU Banks in 2020-2021, then the income of PSU
Banks in 2022-23 will be approximately
2021-2022.

62
44
56
64

% more than the expenditure of PSU Banks in

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 3ID :
Option 4 ID :

Status :

Chosen Option :

MCQ
53307219433
53307275701
53307275702
53307275703
53307275704
Answered

2
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0]
2
(3)
)
Options 1. 1
2.2
3.3
4.4

Note :

Comprehension:

The following table shows the percentage (%) increase in income and expenditure of various types

Income and expenditure details of Banks

Percentage Increase in

Bank type Income over previous year |Expenditure over previous year
2021-2022 | 2022-2023 | 2021-2022 2022-2023

PSU Banks 15% 17% 13% 22%

Old Private Banks 20% 14% 15% 17%

New Private Banks 44% 37% 42% 4%

Foreign Banks 9% 12% 4% 1%

of Banks, namely PSU Banks, Old Private Banks, New Private Banks and Foreign Banks over the previous
year during the year 2021-2022 and 2022-2023. Based on the data in the table, answer the questions
that follow :

In the above table, the meaning of any figure x% is as follows :

() x% in 2021-2022 means income or expenditure in 2021-2022 is x% more than that in
2020-2021.

() x% in 2022-2023 means income as expenditure in 2022-2023 is x% more than that is
2021-2022

SubQuestion No : 5

T 3984 crore
¥ 4000 crore
¥ 5462 crore
T 3460 crore

Q.5 If the expenditure of foreign Banks in 2020-2021 is equal to their income in that year and is equal
to ¥ 60,000 crore, then in 2022-2023, what is the difference in income and expenditure of Foreign
Banks ?

Question Type :
Question ID :
: 53307275705

Option 11D

Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

McaQ
53307219434

53307275706
53307275707
53307275708
Answered

1
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Q6 Which of the following are the characteristics of mental development of Adolescents ?
(A) Increased ability to deal with abstraction
(B) Reviewing of hopes and aspirations
(C) Increased ability to understand
(D) Increased ability to generalize the facts
(E)  Ability of problem solving
Choose the correct answer from the options given below :
(1) (B), (D) and (E) only
() (A), (B) and (D) only
@) (A), (O), (D) and (E) only
(4) (C) and (E) only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219438
Option 1 ID : 53307275721
Option 2 ID : 53307275722
Option 3 ID : 53307275723
Option 4 ID : 53307275724
Status : Answered
Chosen Option : 1
Q7 Which of the following electronic technologies is the key technology for making the Personal
Computer (PC) in the 1970s ?
(1) Transistor based
(2) Integrated components (ICs) based
(3) Microprocessor based
(4) Vacumm tube based
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219463
Option 1 ID : 53307275821
Option 2 ID : 53307275822
Option 3 ID : 53307275823
Option 4 ID : 53307275824
Status : Answered
Chosen Option : 4
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Q8 A science teacher assign students a project where they design and conduct on experiment to
investigate the effects of environmental factors on plant growth in real time. This assessment is an
example of ?
(1) Summative Assessment
(2) Authentic Assessment
(3) Ipsative Assessment
(4) Peer Assessment
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219442
Option 1 ID : 53307275737
Option 2 ID : 53307275738
Option 3 ID : 53307275739
Option 4 ID : 53307275740
Status : Answered
Chosen Option : 3
Q.9 ; x ; o s
Identify the main preoccupations of quantitative researchers :
(A) Measurement
(B) Causality
(C) Emphasis on context
(D) Generalization
Choose the correct answer from the options given below :
(1) (A) and (B) only
(2) (A), (B) and (C) only
(3) (A), (B) and (D) only
(4) (B), (C) and (D) only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219443
Option 1 ID : 53307275741
Option 2 ID : 53307275742
Option 3 ID : 53307275743
Option 4 ID : 53307275744
Status : Answered
Chosen Option : 3
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Q.10

Sequential accounts, told from a particular viewpoint are called :
(1) Situational actions

(2) Social themes

(3) Narratives

(4) Dignified discourse

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219449
Option 1 ID : 53307275765
Option 2 ID : 53307275766
Option 3 ID : 53307275767
Option 4 ID : 53307275768
Status : Answered
Chosen Option : 3
Qn Identify the sequence of words A-E that correctly fills the blanks in the following paragraph :
__is used to connect the smartwatch and wireless headphone to the phone and is a
range wireless technology. is used to connect the phone and the laptop
to the outside world called the “Internet” and it uses radio waves to allow high-speed data transfer
over short distances. is used to connect the phone to countless services via the “Internet”
and is a range wireless technology.
(A) Short
(B) Long
(C) Wifi
(D) 3G/4G/5G
(E) Bluetooth
Choose the correct answer from the options given below :
(1) (E) (A) (©), (D), (B)
(2 B, (A) (©), D), (E)
(3)  (A). (), (B), (C), (D)
4) (B, (©), (A), (B), (D)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219465
Option 1 ID : 53307275829
Option 2 ID : 53307275830
Option 3 ID : 53307275831
Option 4 ID : 53307275832
Status : Answered
Chosen Option : 4
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Q.12 Trave]]jng in a train, a man notices 13 telephone poles in two minutes. If the two successive
telephone poles are known to be 125 m a part, then the train is travelling at a speed of :

(1) 40 km/hr
(2) 42 km/hr
(3) 45 km/hr
(4) 48 km/hr
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219457
Option 1 ID : 53307275797
Option 2 ID : 53307275798
Option 3 ID : 53307275799
Option 4 ID : 53307275800
Status : Answered
Chosen Option : 3
Q13 , sampling technique that relies on getting information from people who know about a population
of interest rather than from members of that population themselves, refers to ?
(1) Probability sampling
(2) Key informant sampling
(3) Snowball sampling
(4) Quota sampling
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219446
Option 1 ID : 53307275753
Option 2 ID : 53307275754
Option 3 ID : 53307275755
Option 4 ID : 53307275756
Status : Answered
Chosen Option : 3
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Q14 The N.N. Kunzru committee was formed to look into the issue of
level.

(1)  Administrative reforms

(2) Selecton of vice-chancellors
(3) Sports education

(4) Medium of instruction

at the university

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219474
Option 1 ID : 53307275865
Option 2 ID : 53307275866
Option 3 ID : 53307275867
Option 4 ID : 53307275868
Status : Answered
Chosen Option : 3
Q.15 7 : ;
Find the next number in the number series :
48, 24, 72, 36, 108, ?
(1) 115
3 12
(3) 110
(4) 54
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219455
Option 1 ID : 53307275789
Option 2 ID : 53307275790
Option 3 ID : 53307275791
Option 4 ID : 53307275792
Status : Answered
Chosen Option : 4
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Q.16
By 1946-47, the number of universities in India was :
1) 12
2) 14
3) 15
@) 17
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219475
Option 1 ID : 53307275869
Option 2 ID : 53307275870
Option 3 ID : 53307275871
Option 4 ID : 53307275872
Status : Answered
Chosen Option : 1
QA7 \Which one of the following agreements/ protocols mainly focuses on the curbing of global
temperature rise ?
(1) Montreal Protocol
(2) Kigali Agreement
(3) Kyoto Protocol
(4) Paris Agreement
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219469
Option 1 ID : 53307275845
Option 2 ID : 53307275846
Option 3 ID : 53307275847
Option 4 ID : 53307275848
Status : Answered
Chosen Option : 3
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Q.18 Knowing the importance of metacognition, Richa decided she would try to focus her young students’
attention on their own thinking skills. Richa knew by having her students “think” about their
thinking they would eventually increase their metacognitive skills. Which one of the strategy
should Richa employ ?
(1) Overlearning
(2) A KWL Chart
(3) Rote learning
(4)  An algorithm
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219439
Option 11D : 53307275725
Option 2 ID : 53307275726
Option 3 ID : 53307275727
Option 4 ID : 53307275728
Status : Answered
Chosen Option : 4
Q.19 When we describe how a media system should function in conformity with ideal values, it is
labelled as ?
(1)  Social theory
(2) Normative theory
(3) Comparative theory
(4)  Analytical theory
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219448
Option 1 ID : 53307275761
Option 2 ID : 53307275762
Option 3 ID : 53307275763
Option 4 ID : 53307275764
Status : Answered
Chosen Option : 4
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Q.20 Priya knows she did something embarrassing at her best friend’s birthday party many years ago,
but she cannot remember what it was. This is an example of :
(1) Repression
(2)  Amnesia
(3)  Implicit memory
(4) Interferences

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219441
Option 1 ID : 53307275733
Option 2 ID : 53307275734
Option 3 ID : 53307275735
Option 4 ID : 53307275736
Status : Answered
Chosen Option : 3
Q.21

Your measurements should show which of the following validities if you want to generalize the
tesults of your research to a different population ?

(1) Construct validity
(2) Internal validity

(3)  External validity
(4) Convergent validity
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 53307219444
Option 1 ID : 53307275745
Option 2 ID : 53307275746
Option 3 ID : 53307275747
Option 4 ID : 53307275748

Status : Answered

Chosen Option : 3
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Q.22 40 people consume 320 kg of rice in 50 days. In how many days will 30 people consume 80 kg of
Tice ?

1

(1) 185 days
2

(2) 155 days
2

(3) 175 days

1
(4) 155 days

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 53307219453
Option 1 ID : 53307275781
Option 2 ID : 53307275782
Option 3 ID : 53307275783
Option 4 ID : 53307275784

Status : Answered

Chosen Option : 2

Q.23 Which one of the following is a chemical parameter to measure the water quality ?
(1)  Turbidity
(2) Temperature
(3) Hardness
(4) Color
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 53307219471
Option 1 ID : 53307275853
Option 2 ID : 53307275854
Option 3 ID : 53307275855
Option 4 ID : 53307275856

Status : Answered

Chosen Option : 3
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Q24 which was the first commission to touch upon the issues of higher education in India indirectly ?
(1) The Indian Education Commission (1882-83)
(2)  The Indian Universities Commission (1902)
(3) The Calcutta University Commission (1917-1919)
(4) The Hartog Committee (1929)

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219473
Option 1 ID : 53307275861
Option 2 ID : 53307275862
Option 3 ID : 53307275863
Option 4 ID : 53307275864
Status : Answered
Chosen Option : 2
Q.25 “Of course, abortion has to be legal. After all, a woman must have freedom to do whatever she
wants with her own body”. Identify the fallacy committed in this statement :
(1) Fallacy of composition
(2) Complex question
(3) Begging the question
(4) Hasty generalization
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219458
Option 1 ID : 53307275801
Option 2 ID : 53307275802
Option 3 ID : 53307275803
Option 4 ID : 53307275804
Status : Answered
Chosen Option : 1
Q.26 Computer security breaches can be minimized by incorporating which feature into a computer
system’s operation ?
(1) Installation of software of user’s choice
(2)  The ability to log into multiple nodes, using only one account
(3) Forced log off from the system if no activity has been detected
(4) Allowing the uploading and downloading of files to the system
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219464
Option 1 ID : 53307275825
Option 2 ID : 53307275826
Option 3 ID : 53307275827
Option 4 ID : 53307275828
Status : Answered
Chosen Option : 3
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Q27 | 4 certain coding language, the word ‘GREAT is coded as ‘ETCCR, then the word ‘FROWN'
will be coded as :

Chosen Option :

() DTMYL
(2 ETNWL
#) HTQXP
(4) DSOXL
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219456
Option 1 ID : 53307275793
Option 2 ID : 53307275794
Option 3 ID : 53307275795
Option 4 ID : 53307275796
Status : Answered
Chosen Option : 1
Q.28 which of the following propositions is contradictory to the proposition “All cats are Carnivores” ?
(1) Some Cats are not Carnivores
(2) Some Cats are Carnivores
(3) No Cats are Carnivores
(4) No Carnivores are Cats
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219459
Option 1 ID : 53307275805
Option 2 ID : 53307275806
Option 3 ID : 53307275807
Option 4 ID : 53307275808
Status : Answered

1
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Q29 Which of the following statements is true ?
(1) Inavalid argument all of its premises have to be true
(2) Validity can be attributed to any single proposition by itself
(3)  Truth and falsehood are attributes of single propositions
(4) Truth and falsehood can be attributed to arguments
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219461
Option 1 ID : 53307275813
Option 2 ID : 53307275814
Option 3 ID : 53307275815
Option 4 ID : 53307275816
Status : Answered
Chosen Option : 1
Q.30 Dysentery is a waterborne disease caused by water contaminated by :
(1) Virus
(2) Bacteria
(3) Fungi
(4) Protozoan
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219468
Option 1 ID : 53307275841
Option 2 ID : 53307275842
Option 3 ID : 53307275843
Option 4 ID : 53307275844
Status : Answered
Chosen Option : 2
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Q.31 : . ; i
Which of the following statements are logically equivalent ?
(A) No Carnivores are Cats.
(B) Some Carnivores are not Cats.
(C) All Cats are Carnivores
(D) All non-carnivores are non-cats
Choose the correct answer from the options given below :
(I) (€) and (D) only
(2) (A)and (D) only
(3) (A) and (B) only
(4) (B) and (D) only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219460
Option 1 ID : 53307275809
Option 2 ID : 53307275810
Option 3 ID : 53307275811
Option 4 ID : 53307275812
Status : Answered
Chosen Option : 1
Q.32 : " : :
Which one of the following is not an air pollutant ?
(1) NO
2) NO,
(3] N\Dx
4) N,O
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219472
Option 11D : 53307275857
Option 2 ID : 53307275858
Option 3 ID : 53307275859
Option 4 ID : 53307275860
Status : Answered
Chosen Option : 3
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Q.33

With reference to computer components, which of the following statements are correct ?
(A) A hard drive has no moving parts.

(B) Fan is required to cool down CPUs so that these do not overheat.

(C) Accessing information in a hard drive is faster than accessing information stored in RAM.
(D) When power is switched off, any information stored in a hard drive is lost,

(E) For a given amount of memory, RAM is more expensive than a hard drive.

Choose the correct answer from the options given below :

(1) (A), (B) and (E) only

(2) (©) and (D) only

(3  (C), (D) and (§) only

(4) (8 and (B) only

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 53307219466
Option 1 ID : 53307275833
Option 2 ID : 53307275834
Option 3 ID : 53307275835
Option 4 ID : 53307275836

Status : Answered

Chosen Option : 4

Q.34 A sociology professor wants to gather student’s opinions on controversial social issue discussed in
class which tools allow the professor to create polls and analyze responses in real-time ?
(A) Poll everywhere

(B) Camtasia

(C) Strawpoll

(D) Survey Monkey

(E) Mentimeter

Choose the correct answer from the options given below :
(1) (A), (B) and (D) only

(2)  (A) (O), (D) and (E) only

(3)  (B) and (E) only

(4) (B), (C) and (D) only

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 53307219440
Option 1 ID : 53307275729
Option 2 ID : 53307275730
Option 3 ID : 53307275731
Option 4 ID : 53307275732

Status : Answered

Chosen Option : 1
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Q.35 |f he selling price of Rs. 623 results in a discount of 11% on the market price of an item, at what
price should the item be sold to offer a discount of 19% ?

(1) Rs. 557

(2) Rs. 567

(3) Rs. 577

(4) Rs. 587
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 53307219454
Option 1 ID : 53307275785
Option 2 ID : 53307275786
Option 3 ID : 53307275787
Option 4 ID : 53307275788

Status : Answered

Chosen Option : 2

Q.36 Many modern scholars consider the following as positive aspects of communication which of them
are true ?

(A) Communication helps create knowledge

(B) It defines the human goals

(C) It supports efforts to change social morms

(D) It makes simple tasks complex

(E) It promotes propaganda techniques all the time
Choose the correct answer from the options given below :
(1) (A), (B), (C) only

@ (®), (), D) only

(3) (D), (® only

) (A), (©), (B) only

Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Question ID : 53307219450
Option 1 ID : 53307275769
Option 2 ID : 53307275770
Option 3 ID : 53307275771
Option 4 ID : 53307275772

Status : Answered

Chosen Option : 4
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Q.37 =
A tsunami is a :

(1) Transverse wave

(2) Longitudinal waves

(3) Both transverse and longitudinal waves
(4) Neither transverse nor longitudinal wave

frefafaa fasml 1 Femy % 991 g2 99§ FL
(A) el & e Fgia & AfaehR

(B) SfeR WeRTe

(C) FH I sy

(D) FNR ¥ 92 TqH W UqEF T ST

() Tesfardrg i gomell 1 3g9a

=1 fou U foreredi # & TE ST = HIeT
(1) (A) (O, (B), (D), (B)

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219470
Option 1 ID : 53307275849
Option 2 ID : 53307275850
Option 3 ID : 53307275851
Option 4 ID : 53307275852
Status : Answered
Chosen Option : 1
Q.38

(2 (B), (D), (C), (), (A)
(3)  (©), (B), (D), (A), (B)
4) (B, (B), (O), (D), (A)
Question Type :
Que.stio: :g

McaQ

: 53307219452
: 53307275777
: 53307275778
: 53307275779

53307275780

: Answered

2
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Q-39 \fagch List - I with List - IL

List - 1 List - II
(Computer Components) (Meaning)
(A) RAM (I)  Brain of the computer
(B) ROM (L)  Stores the date, time and system configuration for
BIOS
(C) CMOS ([I) Memory that can be written to and read from
(D) CPU (IV) Stores ‘boot up’ program

Choose the correct answer from the options given below :
(1) (A)-m), (B)(II), (C)-IV), (D)-[0)
(2) (A, (BHIV), (O)-(ID), (D)-1)
(3) (A, (B)-(D), (C)-(IV), (D)-(1T)
(4)  (A)-IV), (B)(II), (O)-(1D), (D)-I)

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219467
Option 1 ID : 53307275837
Option 2 ID : 53307275838
Option 3 ID : 53307275839
Option 4 ID : 53307275840
Status : Answered
Chosen Option : 1
Q.40

Which of the following are part of narration ?

(A) A sequence of a beginning, middle and end

(B) Causal development between sequences and the conclusion
(C) Memorable phrases indicating what happened

(D) Absence of spatial context

(E) Exclusion of temporal factor

Choose the correct answer from the options given below :
(1) (A), (B), (C) only

(2 (B), (©), (D) only

() (D) (E) only

4) (A (O, (E) only

Options 1. 1

2.2

3.3
4.4

Question Type : MCQ
Question ID : 53307219451
Option 1 ID : 53307275773
Option 2 ID : 53307275774
Option 3 ID : 53307275775
Option 4 ID : 53307275776

Status : Answered

Chosen Option : 1
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Q.41 According to Nyiya (Classical school of logic) which of the following step of inference corresponds

to Upanaya ?

1
2)

The hill has fire
Because it has smoke

(3)  What ever has smoke has fire, e.g. an oven
(4)  The hill has smoke which is invariably associated with fire
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219462
Option 1 ID : 53307275817
Option 2 ID : 53307275818
Option 3 ID : 53307275819
Option 4 ID : 53307275820
Status : Answered
Chosen Option : 3
@42 Match List - I with List - IL.
List - I List - II
(Authors) (Books)
(A) Brahma Gupta () Lilavat
(B) Varahamihira () Brahma Sphota Siddhanta
(C) Bhaskaracharya (II) - Natyashastra
(D) Bharatmuni (IV) Brihat Samhita
Choose the correct answer from the options given below :
(1) (A)-ID, (B)-1), (O-1V), (D)-(I)
(2 (A)-(D), (B)-(IV), (O)-(I), (D)-(I)
(3)  (AHIV), (B)(ID), (O)-(I), (D)-(II)
(4) (A)ID, (B)-(IV), (O)-(11D), (D)-(I)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219477
Option 1 ID : 53307275877
Option 2 ID : 53307275878
Option 3 ID : 53307275879
Option 4 ID : 53307275880
Status : Answered
Chosen Option : 4
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Q.43

Identify the measures of dispersion :

(A)
(B)
(©)
(D)
(E)

Mean deviation
Median

Standard deviation
Range

Quartile

Choose the correct answer from the options given below :

(1
(2
(3
(4

Options 1. 1

2.2
3.3
4.4

)

)
)
)

(A), (B) and (C) only
(A) and (E) only

(A), (C) and (D) only
(C), (D) and (E) only

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCQ
53307219447
53307275757
53307275758
53307275759
53307275760
Answered

3
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Q.44
Match List - I with List - IL.
List - I List - 11
(Abbreviations) (Meaning)
(A) id, (I)  refer to
(B) post: (II)  the same
(C) wvid (IIT) namely
(D) wviz., (IV) after
Choose the correct answer from the options given below :
(1) (A1), (By-(I), (O)~(L), (D)-(1V)
(2) (A1), (B)-(IV), (C)-(1), (D)-(III)
(3)  (A)-(ID), (B)-(I), (C)-(I1I), (D)-(IV)
(4) (A, (B)-(10), (C)-(IV), (D)-(I)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219445
Option 1 ID : 53307275749
Option 2 ID : 53307275750
Option 3 ID : 53307275751
Option 4 ID : 53307275752
Status : Answered
Chosen Option : 1
Q45 Which of the following ancient universities was visited by the Chinese traveller Hiuen Tsang ?
(1) Indraprastha
(2) Takshashila
(3) Nalanda
(4) Odantapuri
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219476
Option 1 ID : 53307275873
Option 2 ID : 53307275874
Option 3 ID : 53307275875
Option 4 ID : 53307275876
Status : Answered
Chosen Option : 3
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Comprehension:

Read the following passage and answer the questions.

Floods are normal events that cause da_mage. As rivers carve and shapE the ]a_ndscape, I;hey build
broad floodplains, level expanses that are periodically inundated. A “10-year flood” would be expected
to occur once in every ten years; a “100-year flood” would be expected to occur once every century. The
biggest economic loss from floods is usually not the buildings and property they carry away but rather,
the contamination they cause. Many human activities like paving roads and parking lots reduces water
infiltration into the soil and speeds the rate of runoff into streams and lakes. Even more than development,
I:hough, flood-control structures have seperated ﬂondpla_i_ns from rivers. Levees and flood walls are built
to contain water within river banks, and river channels are dredged and deepened to allow water to
recede faster. Every flood-control structure simply transfers the problem down-stream. However,
the water has to go somewhere. If it doesn’t soak into the ground upstream, it will simply exacerbate
floods somewhere downstream-leading to more levee development, and then to more flooding farther
downsiream, and so on.

SubQuestion No : 46

Qe What is the biggest economic loss from floods typically due to ?
(1) Destruction of buildings
(2) Loss of life
(3) Contamination caused by flood waters
(4) Erosion of river banks
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

McQ
53307219480
53307275885
53307275886
53307275887
53307275888
Answered

3
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Comprehension:

Frtifera TenT St eaTgEes ufen o W & T e

e WA ST & Tt eifa—=iia &t €1 == fear afeara St € oz g o frwfor et € o 3 1
TR STghd A ET (FETE) & R T S ® o weifir w9 & Serw e €1 9o 98 o § TR 9
*10 FTg 1R ST T ST BT : Uk WET § U A% ' 100-591 T’ 377 1 ST Wl | @e % giumEEy
IO A LT AR B WA 27 e i T 1 T S & oy 3 S WeuwW 9g; @i B 1 9
g T <z wifebe werm s Sret sga d Aeta wrEEedl & s ger § et i wid: T ¥ S § i
YT WelTe (%) eiR el  ervere 1 e o au en Wt ¥ 1 o § ot sifirer gefa A e 1 weeEsi
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SubQuestion No : 47

Q.47 W] TE T a9l Wik 3 e FAR w1 SN aradd e § S w fEy e g aed g ?
(1) = w fasdife % S

(2)  =EH gel aun siel S 9 3w w6 T g S
(3) =od Tl g % A Ul 3 S o i we S g
(4) THY & TS T T TSl 7
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

MCcQ
53307219481
53307275889
53307275890
53307275891
53307275892
Answered

2
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Comprehension:

Read the following passage and answer the questions.

Floods are normal events that cause da_mage. As rivers carve and shapE the ]a_ndscape, I;hey build
broad floodplains, level expanses that are periodically inundated. A “10-year flood” would be expected
to occur once in every ten years; a “100-year flood” would be expected to occur once every century. The
biggest economic loss from floods is usually not the buildings and property they carry away but rather,
the contamination they cause. Many human activities like paving roads and parking lots reduces water
infiltration into the soil and speeds the rate of runoff into streams and lakes. Even more than development,
I:hough, flood-control structures have seperated ﬂondpla_i_ns from rivers. Levees and flood walls are built
to contain water within river banks, and river channels are dredged and deepened to allow water to
recede faster. Every flood-control structure simply transfers the problem down-stream. However,
the water has to go somewhere. If it doesn’t soak into the ground upstream, it will simply exacerbate
floods somewhere downstream-leading to more levee development, and then to more flooding farther
downsiream, and so on.

SubQuestion No : 48

Q.48
100 year flood" :
(1) Will happen every 10 years.
(2) Will never happen twice in the same year.
(3) May happen more frequently than a “10-year flood”.
(4) May happen once every century
Options 1. 1
2.2
3.3
4.4
Question Type
Question ID :
Option 1 ID
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

. MCcQ

53307219479

: 53307275881

53307275882
53307275883
53307275884
Answered

4
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Comprehension:

Read the following passage and answer the questions.

Floods are normal events that cause da_mage. As rivers carve and shapE the ]a_ndscape, I;hey build
broad floodplains, level expanses that are periodically inundated. A “10-year flood” would be expected
to occur once in every ten years; a “100-year flood” would be expected to occur once every century. The
biggest economic loss from floods is usually not the buildings and property they carry away but rather,
the contamination they cause. Many human activities like paving roads and parking lots reduces water
infiltration into the soil and speeds the rate of runoff into streams and lakes. Even more than development,
I:hough, flood-control structures have seperated ﬂondpla_i_ns from rivers. Levees and flood walls are built
to contain water within river banks, and river channels are dredged and deepened to allow water to
recede faster. Every flood-control structure simply transfers the problem down-stream. However,
the water has to go somewhere. If it doesn’t soak into the ground upstream, it will simply exacerbate
floods somewhere downstream-leading to more levee development, and then to more flooding farther
downsiream, and so on.

SubQuestion No : 49

Q.49 How do flood control structures like levees and flood walls affect downstream areas ?
(1) They prevent floods
(2

) They reduce flooding in all areas
(3) They transfer the problem downstream, excerbating floods there
)

(4)  They increase the absorption of water upstream

Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 ID :

Status :

Chosen Option :

MCQ
53307219482
53307275893
53307275894
53307275895
53307275896
Answered

3
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Comprehension:

Read the following passage and answer the questions.

Floods are normal events that cause da_mage. As rivers carve and shapE the ]a_ndscape, I;hey build
broad floodplains, level expanses that are periodically inundated. A “10-year flood” would be expected
to occur once in every ten years; a “100-year flood” would be expected to occur once every century. The
biggest economic loss from floods is usually not the buildings and property they carry away but rather,
the contamination they cause. Many human activities like paving roads and parking lots reduces water
infiltration into the soil and speeds the rate of runoff into streams and lakes. Even more than development,
I:hough, flood-control structures have seperated ﬂondpla_i_ns from rivers. Levees and flood walls are built
to contain water within river banks, and river channels are dredged and deepened to allow water to
recede faster. Every flood-control structure simply transfers the problem down-stream. However,
the water has to go somewhere. If it doesn’t soak into the ground upstream, it will simply exacerbate
floods somewhere downstream-leading to more levee development, and then to more flooding farther
downsiream, and so on.

SubQuestion No : 50

a0 What do broad floodplains, created by rivers often lead to ?

(1) Higher mountain formation
(2) Damage soil condition
(3) Periodic inundation
(4) Formation of lakes

Options 1. 1
2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
53307219483
53307275897
53307275898
53307275899
53307275900
Answered

3
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Q.51
Which of the following is the apex decision -making body of WTO?
1. General Council
2. Executive Council
3. Ministerial Conference
4. TRIMS
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219486
Option 1 ID : 53307275909
Option 2 ID : 53307275910
Option 3 ID : 53307275911
Option 4 ID : 53307275912
Status : Answered
Chosen Option : 1
Q.52 The authentication to be affected by use of asvmmetric crypto system and hash function is known
as.
1. E-commerce
2. Virtual signature
3. Digital signature
4. E-verification
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219517
Option 1 ID : 53307276033
Option 2 ID : 53307276034
Option 3 ID : 53307276035
Option 4 ID : 53307276036
Status : Answered
Chosen Option : 1
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Q.53 Revenue from sale of products. ordinarily is reported as part of the earning in the period when :
1. The sale is made
2. The cash is collected
3. The products are manufactured
4. The profit is computed
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219491
Option 1 ID : 53307275929
Option 2 ID : 53307275930
Option 3 ID : 53307275931
Option 4 ID : 53307275932
Status : Answered
Chosen Option : 1
Q.54 . . .
Arrange the following new product planning process in proper sequence.
A. Idea screening
B. Idea generation
C. Concept Development and testing
D. Market strategy development
E. Business Analysis
Choose the correct answer from the options given below:
1.A,B,C,D,E
2.B,A, C,IE
3AB,C.ED
4. E.D B A,C
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219533
Option 1 ID : 53307276097
Option 2 ID : 53307276098
Option 3 ID : 53307276099
Option 4 ID : 53307276100
Status : Answered
Chosen Option : 2
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Q.55
Which of the following are the participants in T-Bills Market?
A. Reserve Bank of India
B. Commercial Banks
C. Foreign Banks
D. Provident Funds
E. Corporates
Choose the correct answer from the options given below:
1.B.C.D & E Only
2.A,B,C & EOnly
3.A,B.D & E Only
4.A,B,C_D&E
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

MCQ
53307219550
53307276165
53307276166
53307276167
53307276168
Answered

3
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Q36 Compute the tax liability under default tax regime of Mr. X (35 year), having total income of %
51,75,000 for the assessment year 2024-25. Assume that his total income comprises salary,
income from house property and interest on fixed deposit:
1. 13.,75,000
2.13.77,750
3. 14.30,000
4. 14.75,000
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219522
Option 1 ID : 53307276053
Option 2 ID : 53307276054
Option 3 ID : 53307276055
Option 4 ID : 53307276056
Status : Answered
Chosen Option : 3
Q.57 . . .
Match the List-T with List-IT
LISTI LISTII
(Section) (Ceiling limit)
A |80-C I 30,000
B. |80-CCD (1) II. |10% of salary or 20% of gross total income as per case
C. |80-CCD(1B) | IIL |14% of salary
D. |80-CCD (2) IV. 1,530,000
Choose the correct answer from the options given below:
I. A-I. B-II, C-IIT, D-IV
2. A-IV, B-11, C-1, D-TII
3. A-IV, B-II1, C-II, D-1
4. A-IIL, B-TV, C-1, D-II
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219573
Option 1 ID : 53307276257
Option 2 ID : 53307276258
Option 3 ID : 53307276259
Option 4 ID : 53307276260
Status : Answered
Chosen Option : 2
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Q38 What is the time limit within which an information is to be provided regarding the life and
liberty of a person under RTI Act, 20057
1. 30 days
2. 60 days
3. 24 hours
4. 48 hours
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219520
Option 1 ID : 53307276045
Option 2 ID : 53307276046
Option 3 ID : 53307276047
Option 4 ID : 53307276048
Status : Answered
Chosen Option : 3
Q59 Match the List-I with List-II
LISTI LISTII
' i Consumers have a right against the marketing of goods, products or
A. |Right to Safety 1 services which are hazardous to life & property.
B Right to be I Consumers have a right to know about the quality. quantity, potency. purity.
" |assured standard and price of goods or services.
c Right to be I Consumers have a right to be assured that their interest will receive due
" |informed " | consideration at appropriate commission
D. |Righttobeheard | TV Consumer has the opportunity to choose from a wide range of products at
reasonable rates.
Choose the correct answer from the options given below:
1. A-L B-IV, C-II, D-IIT
2. A-IL, B-III, C-I, D-IV
3. A-IIT, B-II, C-1, D-IV
4. A-IV, B-1II. C-II, D-1
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219571
Option 1 ID : 53307276249
Option 2 ID : 53307276250
Option 3 ID : 53307276251
Option 4 ID : 53307276252
Status : Answered
Chosen Option : 1
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Q.60 Which of the following are the benefits of globalisation?
A Increase in competition would make companies more cost & quality conscious and
innovative.
B. An open economy spurs innovation with fresh ideas from abroad.
C. Liberalisation & global competition enhances consumer choice and consumer surplus.
D. Developing countries could be very vulnerable to the harmful effects of globalisation.
E. Globalisation opens up enormous domestic and global opportunities for firms in developing
countries.
Choose the correct answer from the options given below:
1.A.B,C & D Only
2.C.D & E Only
3B, C,D&E Ounly
4.A,B,C & E Only
Options 1. 1
2.2
3.3
4.4
Question Type
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

. McQ

53307219541
53307276129
53307276130
53307276131
53307276132
Answered

4
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Q.61
Match the List-T with List-IT
LISTI LISTII
Instruments Market
A |Forwards I | Primary Market
B. | Centificate of Deposits | II. | Money Market
C. |FPO III. | Derivative Market
D. |IPO IV. | Stock Market
Choose the correct answer from the options given below:
1. A-I, B-III, C-II, D-IV
2. A-IL B-1V, C-1. D-III
3. A-IV, B-11, C-II1. D-I
4. A-III, B-I1, C-IV, D-I
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 1 ID :
Option 2 ID :
Option 3 ID :
Option 4 ID :
Status :
Chosen Option :

MCQ
53307219565
53307276225
53307276226
53307276227
53307276228
Answered

4
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Q.62 Arrange the online registration process of a new private limited company in proper sequence.
A Select and Reserve Company Name
B. Acquire DIN & DSC of promoters
C. Draft Memorandum and Articles of Association
D. Get Company Registration Certificate
E. File SPICE+ Applicaiton
Choose the correct answer from the options given below:
1.A,B,C,E.D
2.8 BBy C
3By A E D
4.B.A.C,D.E
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

MCcQ
53307219536
53307276109
53307276110
53307276111
53307276112
Answered

1
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Q.63
Match the List-I with List-II
LISTI LISTII
A | Transfer of ownership I | Negotiable Instrument
B. | Sale of goodwill after dissolution| II. | Contract of Sale of Goods
C. |Buy back of shares III. | Dissolution of Partnership Firm
D. |Promissory Note IV. | Share Capital of Company
Choose the correct answer from the options given below:
I. A-II. B-III. C-1IV, D-1
2. A-1, B-11, C-1I1, D-IV
3. AL B-III, C-1, D-IV
4. A-1, B-111, C-11, D-IV
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219567
Option 1 ID : 53307276233
Option 2 ID : 53307276234
Option 3 ID : 53307276235
Option 4 ID : 53307276236
Status : Answered
Chosen Option : 1
Q.64 y . - . . .
When the number of trials (n) is large but the probability of success (p) is small. Bionomial
probability distribution can be approximated using:
1. Normal Distribution
2. Hypergeometric Distribution
3. Poisson Distribution
4. Bernoulli Distribution
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219506
Option 1 ID : 53307275989
Option 2 ID : 53307275990
Option 3 ID : 53307275991
Option 4 ID : 53307275992
Status : Answered
Chosen Option : 4
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.65 .
Q Match the List-I with List-TI
Match the offences and their corresponding penalties as per L.T. Act-2000.
LISTI LISTII
A g::}:lre 1:1% gi;kclrcﬁf;z)nputer souree I | Imprisonment upto 2 years and or fine upto ¥ 1 lakh
Penalty for mis-representation (Sec.71) | I | Imprisonment upto 3 vears, or fine of T 2 lakh or both
c Penalty for Breach of confidentiality I Imprisonment upto 2 vears or fine which may extend
" | and privacy (Sec.72) " | to one lakh rupees or with both.
D ](?Su:; 5;111:?1( forgyber tertism IV. | Imprisonment extends to imprisonment for life.
Choose the eorrect answer from the options given below:
L. A-L, B-II, C-III, D-IV
2. A-II. B-I, C-IV, D-III
3. A-IL B-II., C-1, D-IV
4. A-IIL, B-IV, C-I, D-II
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219572
Option 1 ID : 53307276253
Option 2 ID : 53307276254
Option 3 ID : 53307276255
Option 4 ID : 53307276256
Status : Answered
Chosen Option : 1
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Q.66 ) . .. - . ; .
Arrange the following strategic decisions in international business in proper sequence.
A. Market Selection Decision
B. International Business Decision
C. Entry and Operating Decision
D. International organisation & HR Decisions
E. Marketing Mix Decision
Choose the correct answer from the options given below:
1.A,B,C,D,E
2.8 B G E; D
3.B,A.C.E,D
4.B,C,A,E,D
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219524
Option 1 ID : 53307276061
Option 2 ID : 53307276062
Option 3 ID : 53307276063
Option 4 ID : 53307276064
Status : Answered
Chosen Option : 3
Q.67
"Fiduciary relationship" is a relationship based on:
1. Legal obligations
2. Absolute trust and reliance
3. Trade relation
4. Monetary benefits
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219519
Option 1 ID : 53307276041
Option 2 ID : 53307276042
Option 3 ID : 53307276043
Option 4 ID : 53307276044
Status : Answered
Chosen Option : 1
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Q.68
Match the List-T with List-II
LISTI LISTII
, - E D
A | Capital Asset Pricing Model E |I==Yet+<==Th (] —TC)
V Vv
B. |Gordon Model 1 [Rg =Ry +Pg(Ry —Ry)
_ ) E
C. | Weighted Average Cost of Capital | TIL P=m|D+—
. E,(1-b)
D. | Traditional Model Iv. PO ==t &
k —br
Choose the correct answer from the options given below:
1. A-IV, B-1, C-II, D-III
2. A-IL B-1IL. C-1. D-IV
3. A-L B-II, C-1I1, D-1IV
4. A-TI, B-IV, C-1, D-TII
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219559
Option 1 ID : 53307276201
Option 2 ID : 53307276202
Option 3 ID : 53307276203
Option 4 ID : 53307276204
Status : Answered
Chosen Option : 4
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Q.69
From the following identify the measures of dispersion
A. Mean Deviation
B. Range
C. Standard Deviation
D. Coefficient of Variation
E. Coefticient of Correlation
Choose the correct answer from the options given below:
1.B,C.D & E Only
2.A,B,D & E Only
3.)A,C,D & E Only
4.A,B,C&DOnly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219547
Option 1 ID : 53307276153
Option 2 ID : 53307276154
Option 3 ID : 53307276155
Option 4 ID : 53307276156
Status : Answered
Chosen Option : 4
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.70 . . . . .
Q Determine the correct sequence of the steps involved in the process of hypothesis testing
A. Setting the null and alternative hypothesis
B. Setting the level of significance
C. Determining the appropriate statistical test
D. Setting the decision rule
E. Analysing the collected data
Choose the correct answer from the options given below:
1. BLA.C.D,E
2.B,C,A,D,E
3.4, C;B; D, E
4.A,B,C,DLE
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219529
Option 1 ID : 53307276081
Option 2 ID : 53307276082
Option 3 ID : 53307276083
Option 4 ID : 53307276084
Status : Marked For Review
Chosen Option : 3
Q.71 - . _— . : . .
The tax planning strategies used by multinational enterprises that exploit gaps and mismatches in
tax rules to avoid paying tax is known as:
1. AEPS
2. BEPS
3. EBPS
4. CEPS
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219523
Option 1 ID : 53307276057
Option 2 ID : 53307276058
Option 3 ID : 53307276059
Option 4 ID : 53307276060
Status : Answered
Chosen Option : 3
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Q.72 Which environment shapes the attitudes of human beings, though there may be great diversity in
its impact ?
1. The Political Environment
2. International Environment
3. The Socio-Cultural Environment
4. The Economic Environment
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219485
Option 1 ID : 53307275905
Option 2 ID : 53307275906
Option 3 ID : 563307275907
Option 4 ID : 53307275908
Status : Answered
Chosen Option : 3
Q.73 . .. L
The liquidator after realizing the assets of the company should distribute the proceeds among
below mentioned claimants in which order?
A. Liquidator's remuneration and cost of expenses of winding up.
B. Legal charges
C. Claims of secured creditors
D. Preferential creditors and creditors secured by floating charges
E. Unsecured creditors
Choose the correct answer from the options given below:
I.A,B,C,D,E
2.B,A,C,D,E
3B, EADE
4. A C.B.E B
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219535
Option 1 ID : 53307276105
Option 2 ID : 53307276106
Option 3 ID : 53307276107
Option 4 ID : 53307276108
Status : Answered
Chosen Option : 2
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Q.74

Match the List-T with List-IT

LISTI LISTII
A |Buver's Mind I | Members of Social-club
B. |Personal Factor II. |Motivation
C. | Psychological Factor | ITI. | Life Style
D. |Reference Group IV, | Black Box

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-I, B-II, C-1II, D-IV
2. A-11, B-TII, C-IV, D-I
3. A-III, B-IV, C-1, D-1I

4. A-IV, B-1II, C-1I, D-1

Question Type

Option 1 ID

:MCQ
Question ID :

53307219569

: 53307276241
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

53307276242
53307276243
53307276244
Answered

4
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Qrs The profit volume ratio of a company is 50% and the margin of safety is 40%. Calculate net-
profit if the sales volume is T 1.00,000.
1. 10,000
2. 18,000
3.20,000
4. 25,000
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219490
Option 1 ID : 53307275925
Option 2 ID : 53307275926
Option 3 ID : 53307275927
Option 4 ID : 53307275928
Status : Answered
Chosen Option : 3
Q.76 L . . . .
The supply function is given as q =— 100+10p. Find the elasticity of supply (Es) using point
method, when price is  15.
1.Es=2
2. E5=3
3.Es=3.3
4.Es=4
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219497
Option 1 ID : 53307275953
Option 2 ID : 53307275954
Option 3 ID : 53307275955
Option 4 ID : 53307275956
Status : Answered
Chosen Option : 1
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Q77 Arrange the following phases of International Monetary System in chronological order (old to
new).
A. Gold Bullion Standard
B. Gold Specie Standard
C. Floating Exchange Rate
D. Gold Exchange Standard
E. Bretton Woods System
Choose the eorrect answer from the options given below:
1A BE DG
2.A.D,E,.C,B
3B, ADE, €
4.B.D.A C,E
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219538
Option 1 ID : 53307276117
Option 2 ID : 53307276118
Option 3 ID : 53307276119
Option 4 ID : 53307276120
Status : Answered
Chosen Option : 3
Q.78 . N . . . o
Matrix organisation violates which of the following management principles?
1. Span of Management
2. Scalar Chain
3. Unity of Direction
4. Unity of Command
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219512
Option 1 ID : 53307276013
Option 2 ID : 53307276014
Option 3 ID : 53307276015
Option 4 ID : 53307276016
Status : Answered
Chosen Option : 4
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Q79 The effect of exchange rate fluctuations on a firm's future cost and revenues is termed as:-
1. Transaction Exposure
2. Translation Exposure
3. Accounting Exposure
4. QOperating Exposure
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219488
Option 1 ID : 53307275917
Option 2 ID : 53307275918
Option 3 ID : 53307275919
Option 4 ID : 53307275920
Status : Answered
Chosen Option : 2
Q.80 .
The Bretton Woods monetary system was based on the fixed rate monetary system. It lasted
between the years:
1. 1946 To 1974
2. 1944 To 1974
3.1940To 1974
4. 1944 To 1971
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219489
Option 1 ID : 53307275921
Option 2 ID : 53307275922
Option 3 ID : 53307275923
Option 4 ID : 53307275924
Status : Answered
Chosen Option : 2
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Q.81
Which of the following is pot a feature of capitalist economy?
1. Right of private property
2. Freedom of choice to consumers
3. Government Interference
4. High level of competition
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219496
Option 1 ID : 53307275949
Option 2 ID : 53307275950
Option 3 ID : 53307275951
Option 4 ID : 53307275952
Status : Answered
Chosen Option : 3
Q.82 . . . . .
Which of the following is correct to compute Labour Mix Variance (LMV)?
1. LMV = Actual rate (Revised Std. time-Actual time)
2. LMV = Actual time (Std. Rate-Actual rate)
3. LMV = Std. Rate (Revised Std. time - Actual time)
4. LMV = Std. time ( Actual rate - Std. Rate)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219492
Option 11D : 53307275933
Option 2 ID : 53307275934
Option 3 ID : 53307275935
Option 4 ID : 53307275936
Status : Answered
Chosen Option : 3
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Q.83
Which of the following is the most frequently held meeting of a company?
1. Statutory Meeting
2. Annual General Meeting
3. Class Meeting
4. Director's Meeting
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219521
Option 1 ID : 53307276049
Option 2 ID : 53307276050
Option 3 ID : 53307276051
Option 4 ID : 53307276052
Status : Answered
Chosen Option : 2
Q.84 . ; . .
Arrange the following steps of sampling design process in correct order.
A. Sampling frame must be determined
B. Target population should be defined according to objective
C. Sampling process must be effectively executed
D. Selecting a sampling technique
E. Number of elements to be included in the study must be carefully determined.
Choose the correct answer from the options given below:
I.B.D.E,C. A
2.4, B, D, E48
3AC B, BE
4.B.AD.E.C
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219528
Option 1 ID : 563307276077
Option 2 ID : 53307276078
Option 3 ID : 53307276079
Option 4 ID : 53307276080
Status : Answered
Chosen Option : 4
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Q.85
Arrange the steps of research process in the correct logical order.
A. Formulate a research question
B. Literature review
C. Collect data
D. Develop a research plan
E. Interpret the result
Choose the correct answer from the options given below:
. BABCE
2 By BDCUE
3.48,C, D, B E
4.B,A.C,D.E
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219527
Option 1 ID : 53307276073
Option 2 ID : 53307276074
Option 3 ID : 53307276075
Option 4 ID : 53307276076
Status : Answered
Chosen Option : 1
Q.86 - . .
Providing a total package of related goods and services to solve a customer's needs is called:
1. Complete Selling
2. Conglomerate Selling
3. Wholesale Selling
4. Systems Selling
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219515
Option 1 ID : 53307276025
Option 2 ID : 53307276026
Option 3 ID : 563307276027
Option 4 ID : 53307276028
Status : Answered
Chosen Option : 1
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Q.87
The distribution of data which has a long left tail is known as:
1. Positively skewed distribution
2. Negitively skewed distribution
3. Symmetrical distribution
4, Mesokurtic distribution
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219507
Option 1 ID : 53307275993
Option 2 ID : 53307275994
Option 3 ID : 53307275995
Option 4 ID : 53307275996
Status : Answered
Chosen Option : 2
Q.88 Nicosia Model of consumer behaviour is divided into four major fields, which of the following is
the third field under this model?
1. Feedback
2. Act of purchase
3. Firm's and consumer's attributes
4. Search and evaluation
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219514
Option 1 ID : 53307276021
Option 2 ID : 53307276022
Option 3 ID : 53307276023
Option 4 ID : 53307276024
Status : Answered
Chosen Option : 2
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Q.89

Match the List-T with List-IT

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

LISTI LISTII
A |Personal selling I | Commercially significant news
B. |Advertising II. | Advertising within buses, railway compartments
C. | Transit advertising | III. | Non-personal communication
D. |Publicity IV | Two way communication

1. A-I, B-II, C-III, D-IV
2. A-IL, B-III, C-1V, D-1
3. A-L B-III, C-IL, D-IV

4. A-IV, B-1IL, C-II, D-1

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCQ
53307219568
53307276237
53307276238
53307276239
53307276240
Answered

4
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Q.90
Match the List-I with List-IT
LISTI LISTII
Act/ Institution Year
A | Consumer Protection Act| I. | 1964
B. |FEMA II. 1945
C. |IMF III. | 1999
D. |UNCTAD IV. 2019
Choose the correct answer from the options given below:
1. A-IV, B-I11, C-11I, D-I
2. AIL, B-1I1, C-1, D-IV
3. A-III, B-IV, C-II, D-I
4. A-1, B-1I, C-I11, D-IV
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219570
Option 1 ID : 53307276245
Option 2 ID : 53307276246
Option 3 ID : 53307276247
Option 4 ID : 53307276248
Status : Answered
Chosen Option : 1
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Q.91
Match the List-I with List-TI
LISTI LISTII
Technique Description
A. | Gordon Technique 1. | Teaching the importance of resolving matters
B. |Morphological Analysis| II. | Insight into a given interaction
C. |Built-in- Tension III. | Listing of alternative solution to problems
D. | Manodrama IV. | Steering a discussion to crystallise solutions
Choose the correct answer from the options given below:
1. A-I. B-1I, C-III, D-IV
2. A-IL B-II1, C-1, D-IV
3. A-III, B-1V, C-I1, D-1
4. A-IV, B-IIL, C-1, D-II
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status
Chosen Option :

McQ

: 53307219564

53307276221
53307276222
53307276223
53307276224

: Answered

1
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Q.92
Transmission of shares is effected by which of the following?
A. Sale
B. Death
C. Insolvency
D. Maturity
Choose the correct answer from the options given below:
1. A & B Only
2. A& C Only
3.B & D Oanly
4.B & C Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219553
Option 1 ID : 53307276177
Option 2 ID : 53307276178
Option 3 ID : 53307276179
Option 4 ID : 53307276180
Status : Answered
Chosen Option : 4
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Q.93 Arrange the following forums in correct sequence of first appeal to final appeal by an assessee
under Income Tax Act-1961
A, Supreme Court
B. High Court
C. Appellate Tribunal
D. Joint Commissioner
Choose the correct answer from the options given below:
1.A.B,C.D
22D.C.B A
3.B.D.A C
4.C.,A.D.B
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219537
Option 1 ID : 53307276113
Option 2 ID : 53307276114
Option 3 ID : 53307276115
Option 4 ID : 53307276116
Status : Answered
Chosen Option : 2
Q.94 . _ . . .
What will be the dividend per share of Rohtas Industries for the year 2024 given the following
information about the company ?
EPS for 2024 =73
DPS for 2023 =212
Target Payout Ratio =% 0.6
Adjustment Rate = 20.7
1. 218
2. 21.62
3. ¥1.52
4. T 1.72
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219503
Option 1 ID : 53307275977
Option 2 ID : 53307275978
Option 3 ID : 53307275979
Option 4 ID : 53307275980
Status : Answered
Chosen Option : 1
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Q.95 . . . . .
Arrange the following steps involved in the process of IPO issue in correct order.
A. Verification by SEBI
B. Hiring an under writer
C. Registration for IPO
D. Pricing of TIPO
E. Allotment of shares
Choose the correct answer from the options given below:
1.LA,C.D,B,E
228D C. B E
3B G D AE
4.B,C,A D, E
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219532
Option 1 ID : 53307276093
Option 2 ID : 53307276094
Option 3 ID : 53307276095
Option 4 ID : 53307276096
Status : Answered
Chosen Option : 4
Q.96 . . - . .
Which of the following is the pre-condition for applying Chi-square test?
1. Data should not be presented in percentage or ratio form.
2. The sample should consists of at least 100 observations.
3. The sample should not be drawn randomly.
4. All the individual observations in a sample should not be independent.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219504
Option 1 ID : 53307275981
Option 2 ID : 53307275982
Option 3 ID : 53307275983
Option 4 ID : 53307275984
Status : Answered
Chosen Option : 3
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Q.97 Which of the following is/are included in salary as per section- 17 of Income Tax Act 19617
A. Wages
B. Perquisite
C. Profits in lieu of salary
D. Compensation on termination of employment
Choose the correct answer from the options given below:
1. A & B Only
2.B & C Only
3.A.B & C Only
4. A B C&D
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219557
Option 1 ID : 53307276193
Option 2 ID : 53307276194
Option 3 ID : 53307276195
Option 4 ID : 53307276196
Status : Answered
Chosen Option : 4
Q.98 . . . . .
Which of the following are the assumption underlying MM Theory of capital structure?
A, Perfect capital Market
B. Hetrogeneous Expectations
C. Absence of Taxes
D. 100% Dividend Payout
E. Equivalent Risk Class
Choose the correct answer from the options given below:
1. A, C, & E Only
2.B,C & E Only
3.A,B.C &D Only
4.B.C.D & E Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219545
Option 1 ID : 53307276145
Option 2 ID : 53307276146
Option 3 ID : 53307276147
Option 4 ID : 53307276148
Status : Answered
Chosen Option : 3
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Q.99 According to Proposition II of Modigliani-Miller theory of capital structure, which of the
following statement is true?
1. Financial Leverage has no effect on the wealth of shareholders.
2. Financial Leverage increases with wealth of shareholders.
3. Rate of return expected by shareholders increases with the increase in equity financing.
4. Rate of return expected by shareholders increases with financial leverage.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219501
Option 1 ID : 53307275969
Option 2 ID : 53307275970
Option 3 ID : 53307275971
Option 4 ID : 53307275972
Status : Answered
Chosen Option : 2
Q.100 . o y -
‘Which organisational structure promotes control and co-ordination within a department because
of similarity in the tasks being performed?
1. Divisional Structure
2. Functional Structure
3. Formal Structure
4. Matrix Structure
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219511
Option 1 ID : 53307276009
Option 2 ID : 53307276010
Option 3 ID : 53307276011
Option 4 ID : 53307276012
Status : Answered
Chosen Option : 2
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Q.101 Which of the following means management should promote a team-spirit of unity and harmony
among employees?
1. Unity of Command
2. Unity of Direction
3. Scalar chain
4. Espirit De Corps
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219510
Option 1 ID : 53307276005
Option 2 ID : 53307276006
Option 3 ID : 53307276007
Option 4 ID : 53307276008
Status : Answered
Chosen Option : 4
Q.102 . . . .
Which of the following are the rights of the equity shareholders?
A. Right to Income
B. Right to claim Dividend
C. Right to Control
D. Right to Liquidation
E. Pre-emptive Rights
Choose the correct answer from the options given below:
L. AB.C,D&E
2.B,C & E Only
3.A,B.C & D Only
4. A, C.D &E Ounly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219544
Option 1 ID : 53307276141
Option 2 ID : 53307276142
Option 3 ID : 53307276143
Option 4 ID : 53307276144
Status : Answered
Chosen Option : 2
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Q.103
Tax treaties are generally based on which of the following convention?
A. OECD Model Tax Convention
B. UN Model Tax Convention
C. WTO Model Tax Convention
D. IMF Model Tax Convention
Choose the eorrect answer from the options given below:
1. A & B only
2. A& Conly
3.B & Donly
4. A, B & C only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219558
Option 1 ID : 53307276197
Option 2 ID : 53307276198
Option 3 ID : 53307276199
Option 4 ID : 53307276200
Status : Answered
Chosen Option : 1
Q.104 ; ;
An appeal that elaborate on a non-product related benefit or image and attempts to induce
emotional responses from consumers is called:
1. Physiological Appeals
2. Informational Appeal
3. Sociological Appeal
4. Transformational Appeal
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 563307219513
Option 1 ID : 53307276017
Option 2 ID : 53307276018
Option 3 ID : 53307276019
Option 4 ID : 53307276020
Status : Answered
Chosen Option : 3
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Q.105

Calculate Debt Service coverage ratio from the following data

Net profit before interest and Tax Z 50,000
10% Debenture (payable in 10vears in equal instalments) T 1,00.000
Tax rate is 50%

Options 1. 1

2.2
3.3
4.4

1127

2.1.67

3. 227

4.2.67

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCQ
53307219493
53307275937
53307275938
53307275939
53307275940
Answered

2
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Q.106
Which of the following are included in Foreign Direct Investment?
A. Wholly owned subsidiary
B. Joint venture
C. Investment in GDR
D. Acquisition
E. Investment by FIIs
Choose the correct answer from the options given below:
1. A & B Only
2.B,C &D Only
3.C,D & E Only
4. A, B & D Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219540
Option 1 ID : 53307276125
Option 2 ID : 53307276126
Option 3 ID : 53307276127
Option 4 ID : 53307276128
Status : Answered
Chosen Option : 3
Q.107 . ; I . .
The price of one kg of tea is T 30. At this price % 5 kg of tea is demanded. If the price of coffee
rises from 2 25 to T 35 per kg, the quantity demanded of tea rises from 35 kg to 8 kg. Find the
cross price elastieity of tea.
1.(4)0.5
2.(H 1.0
3.(t) 1.5
4.(9)18
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219498
Option 1 ID : 53307275957
Option 2 ID : 53307275958
Option 3 ID : 53307275959
Option 4 ID : 53307275960
Status : Answered
Chosen Option : 1
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Q.108

According to Dividend Growth Model, the cost of Equity is equal to :

Options 1. 1

2.2
3.3
4.4

1. Retained Earning + Dividend vield
2. Dividend vield + Expected Growth in Dividend
3. Retained Earning + Expected Growth in Dividend

4. Dividend yield + Intrinsic value

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCcQ
53307219499
53307275961
53307275962
53307275963
53307275964
Answered

3
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Q.109
What is the valuation formula based on the Walter's model if
P: Price per equity share
D: Dividend per share
E: Earnings per share
r: Rate of return on investment
k: Cost of equity
] i D+(E-k)/r
r
9 P=E+(D~E)rfk
k
3. P D+(E-D)r/k
k
A pa E+(E-D)r/k
k
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219502
Option 1 ID : 53307275973
Option 2 ID : 53307275974
Option 3 ID : 53307275975
Option 4 ID : 53307275976
Status : Answered
Chosen Option : 2
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Q.10 In the context of an organisation, the process of making subordinates to act in a desired manner to
achieve certain organisational goals is known as:
L. Employee participation
2. Co-partnership
3. Affiliation
4. Motivation
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219509
Option 1 ID : 53307276001
Option 2 ID : 53307276002
Option 3 ID : 53307276003
Option 4 ID : 53307276004
Status : Answered
Chosen Option : 4
Q.11 . ) . : .
Which of the following are true about chi-square test and chi-square distribution?
A. Chi-square test is a non-parametric test.
B. Chi-square test was developed by spearman.
C. Chi-square distribution can never be negative.
D. Chi-square distribution is a discrete distribution.
E. Chi-square distribution is a function of its degree of freedom.
Choose the correct answer from the options given below:
1.B,C & D Only
2.A, C&EOnly
3.A B & D Only
4.B,D & E Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219546
Option 1 ID : 53307276149
Option 2 ID : 53307276150
Option 3 ID : 53307276151
Option 4 ID : 53307276152
Status : Answered
Chosen Option : 2
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Q112 The general consideration applicable to tax planning in the field of business deduction revolve
around which of the following?
A, Allowability
B. Year of allowability
C. Extent of allowability
D. Carry forward to future years
Choose the correct answer from the options given below:
1. A& B Only
2.A& COnly
3.A.B & C Ouly
4. A,B.C&D
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

McQ
53307219555
53307276185
53307276186
53307276187
53307276188
Answered

4
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Q.113

Match the List-TI with List-IT

LISTI

LISTII

Unity of Command | L

Maintaining high morale among emplovees 1s imperative

Unity of Direction | IL

Hierarchical, formalised communication channel

Scalar Chain 110

Functions have only one plan and one boss

o|ofw|

Espirit de Corps V.

Sub-ordinates reports to onlyv one boss

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A1, B-II, C-IIL, D-IV
2. A-L, B-IV, C-IIL, D-II
3. A-IV, BIIL, C-II, D-I

4. A-II, B-III, C-IV, D-1

Question Type :
Question ID :
Option 11D :

: 53307276218

: 53307276219

: 53307276220

: Answered

Option 2 ID
Option 3 ID
Option 4 ID

Status

Chosen Option :

McQ
53307219563
53307276217

3
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Q.114

Arrange the following process of incorporation of a new LLP in proper sequence.

A. Reserve LLP name

B. Procure Digital Signature Certificate

C. Prepare documents for incorporation of LLP
D. LLP incorporation and DIN Application

E. Drafting and Filling LLP Agreement

F. Apply for PAN and TAN

Choose the eorrect answer from the options given below:

1A BC DUEE
2.B,A.D.C,E.F
3.B.A.C.D.EE

LA BC.DEF

Options 1. 1

2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCcQ

53307219534
53307276101
53307276102
53307276103
53307276104
Marked For Review
3
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Q.115
Arrange the steps of Capital Budgeting Process in correct sequence.
A. Preparation of Capital Budget and Appropriation
B. Performance Review
C. Assembling of Investment proposals
D. Identification of Investment opportunities
E. Decision Making
Choose the correct answer from the options given below:
1.BCE AR
o O W ed sy 0%
3.4, D€, B E
4B, D.C.EA
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219526
Option 1 ID : 53307276069
Option 2 ID : 53307276070
Option 3 ID : 53307276071
Option 4 ID : 53307276072
Status : Answered
Chosen Option : 1
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116 .
Q Match the List-T with List-IT
LISTI LISTII
Al gﬁﬁiﬁonﬂ 1. |Refers to the delegation of authority throughout the organization.
B. | Span of Management II. | Groups activities on the basis of products.
C. |Divisional Structure III. |Refers to the number of subordinates under a supervisor.
B | Dttt v The framework within which managera: and operating tasks are
operated.
Choose the correct answer from the options given below:
L. A-I, B-II, C-TII, D-IV
2. A-IIL B-IL, C-I, D-IV
3. A-II, B-IIT, C-IV, D-I
4. A-IV, B-II, C-11, D-I
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

MCQ
53307219562
53307276213
53307276214
53307276215
53307276216
Answered

4
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Q.17 Which of the following sections of the Income-Tax ACT- 1961, provide for double taxation relief
in India?
A. Section- 89
B. Section- 90
C. Section- 91
D. Section- 92
E. Section- 93
Choose the correct answer from the options given below:
1. A & B Only
2.B & C Ounly
3.C & D Ounly
4.A.B &E Only
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

MCQ
53307219556
53307276189
53307276190
53307276191
53307276192
Answered

3
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Q.118
In case of performance appraisal, an assessment should focus on:
A. Technology to intervene between appraiser and appraisee.
B. Individual traits
C. Behaviours exhibited by the assesses
D. Knowledge/ skills possessed
E. Results achieved
Choose the correct answer from the options given below:
1.A,B,C & D Only
2. A, B, & C Only
3.B.C & D Only
4.B,C.D & E Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219548
Option 1 ID : 53307276157
Option 2 ID : 53307276158
Option 3 ID : 53307276159
Option 4 1D : 53307276160
Status : Answered
Chosen Option : 4
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Q.119

Arrange the following stages of investigation in proper sequence.

A. Plan work to be done and timing.

B. Obtain instructions from the client and prepare terms of reference.

C. Make necessary calculation to eliminate inconsistencies.
D. Collect necessary information and documents.
E. Formulate conclusions/ analysis of findings.
Choose the correct answer from the options given below:
I. AB.C,D,E
2.8 C.B; DV E
3.B,AD,C.E

4.A,B,D,C,E

Options 1. 1

2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
53307219525
53307276065
53307276066
53307276067
53307276068
Answered

3

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode 1//2083024300/2083024300S28D240240/17254301583242816...

cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode 1//2083024300/2083024300S28D240240/17254301....

76/99



9/12/24, 11:14 PM cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode 1//2083024300/2083024300S28D240240/17254301....

Q.120 . . . . . _—
Which of the following are included under EPRG framework of internationalisation?
A. Eco centrism
B. Ethno centrism
C. Poly centrism
D. Regio centrism
E. Geo centrism
Choose the correct answer from the options given below:
1.B,C,D & E Only
2.A.B,C & EOnly
3.A,C,D & E Only
4.A.B,D & E Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219539
Option 1 ID : 53307276121
Option 2 ID : 53307276122
Option 3 ID : 53307276123
Option 4 ID : 53307276124
Status : Answered
Chosen Option : 1
Q.121 . .
A firm wants to launch a new brand of television and refrigerator. The firm conducted a survey
and found that 60% of the households have television, 65% have a refrigerator and 35%, both a
television and a refrigerator. If a household is randomly selected, what is the probability that the
household has either a television or refrigerator?
1.0.70
2.0.90
3.0.80
4.0.60
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219505
Option 1 ID : 53307275985
Option 2 ID : 53307275986
Option 3 ID : 53307275987
Option 4 ID : 53307275988
Status : Answered
Chosen Option : 3
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Q.122 . . . . . . . _—
Which of the following capital budgeting Techniques follows the discounting criteria?
A. Net Present Value
B. Benefit- cost Ratio
C. Accounting Rate of Return
D. Internal Rate of Return
E. Payback Period
Choose the correct answer from the options given below:
1. A, B.C,D Oaly
2.B, C,D Only
3. A,B.D Only
4. A, C,D Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219543
Option 1 ID : 53307276137
Option 2 ID : 53307276138
Option 3 ID : 53307276139
Option 4 ID : 53307276140
Status : Answered
Chosen Option : 4
Q.123 . . . . .
Which of the following is NOT a part of micro environment?
1. Suppliers
2. Customers
3. Competitors
4. Technology
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219484
Option 1 ID : 53307275901
Option 2 ID : 53307275902
Option 3 ID : 53307275903
Option 4 ID : 53307275904
Status : Answered
Chosen Option : 4
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Q.124
Which of the following are different types of dumping?
A. Persistent dumping
B. Predatory dumping
C. Sporadic dumping
D. Nomadic dumping
Choose the correct answer from the options given below:
1. A& B Only
2. A, B & C Oanly
3.B & C Only
4. C & D Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219542
Option 1 ID : 53307276133
Option 2 ID : 53307276134
Option 3 ID : 53307276135
Option 4 ID : 53307276136
Status : Answered
Chosen Option : 2
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Q.125
What is the privilege of a holder in due course?
1. The right to cancel the instrument at any time.
2. Instrument cleansing of all defects.
3. Exemption from legal obligations.
4. Unrestricted transfer of the instrument.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219518
Option 1 ID : 53307276037
Option 2 ID : 53307276038
Option 3 ID : 53307276039
Option 4 ID : 53307276040
Status : Marked For Review
Chosen Option : 2
Q126 Match the List-T with List-II
LISTI LISTII
A | Joint occurance of Events i CC_'HECﬁVE dzthaustive
Events
B. | Outcome of an experiment consisting of all possible events II. |Equally likely Events
c. One of the events can not be expected to occur in preference over 1L | compematen
the other
D. | The occurance of one event implies that the other can not occur IV. | Mutually Exclusive Events
Choose the correct answer from the options given below:
L. A-IIT, B-L, C-II, D-IV
2. A-IV, B-II, C-I, D-III
3. AJIL B-IL C-L, D-IV
4. A-I, B-II, C-1IL D-IV
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219560
Option 1 ID : 53307276205
Option 2 ID : 53307276206
Option 3 ID : 53307276207
Option 4 ID : 53307276208
Status : Answered
Chosen Option : 3
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Q.127
Which of the following can file a petition for winding up of a company?
A. Shareholders
B. The creditor or prospective creditors
C. The legal heirs
D. The person authorised by the central government
Choose the correct answer from the options given below:
1.A B & C Only
2.B.C & D Only
3.A, C&DOnly
4. A, B & D Only
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

MCQ
53307219554
53307276181
53307276182
53307276183
53307276184
Answered

4
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Q.128
Arrange the following anti-dumping process in proper sequence.
A. Initiation
B. Preliminary screening
C. Rejection under deminimis, unsubstantiated information etc.
D. Exporting country allowed to modify practice.
E. Preliminary findings followed by final finding and measures.
Choose the correct answer from the options given below:
1.B,C,A,D,E
2.0 B.C. D E
3.B,A,C,D,E
4.B,C.AE.D
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219531
Option 1 ID : 53307276089
Option 2 ID : 53307276090
Option 3 ID : 53307276091
Option 4 ID : 53307276092
Status : Answered
Chosen Option : 4
Q.129 . ,
A company has Return on Assets (ROA) of 10% and profit margin of 2%. Compute the total
assets turnover.
1.2.5%
2.5%
3.7.5%
4.10%
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219495
Option 1 ID : 53307275945
Option 2 ID : 53307275946
Option 3 ID : 53307275947
Option 4 ID : 53307275948
Status : Answered
Chosen Option : 3
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Q130 Match the List-T with List-II
LISTI LISTII
Al Infom_la] 2 I | Grouping of jobs of similar nature
organisation
B Formal it Interaction among people at work gives rise to a network of social-
" | organisation " | relationship among employees
C. |Divisional structure | III. | The organisation structure comprises separate business units
Funectional 2 : i i
D. e IV. | Specifies clearly the boundaries of authority and responsibility
Choose the correct answer from the options given below:
L. A-II, B-III, C-IV, D-1
2. A-IL B-III, C-1, D-IV
3. A-IL B-IV, C-1II. D-I
4. A-II. B-IV, C-I, D-TII
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219561
Option 1 ID : 53307276209
Option 2 ID : 53307276210
Option 3 ID : 53307276211
Option 4 ID : 53307276212
Status : Answered
Chosen Option : 2
Q.131 . . . . , .
A company prices one litre bottle of its mineral water at ¥ 20/- but 100 ml of the same water in a
moisturizer spray for  50/-. This 1s an example of which one of the following pricing practices?
1. Customer-Segment Pricing
2. Image Pricing
3. Product-form Pricing
4. Mark-up Pricing
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219516
Option 1 ID : 53307276029
Option 2 ID : 53307276030
Option 3 ID : 53307276031
Option 4 ID : 53307276032
Status : Answered
Chosen Option : 3
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Q.132

Which of the following are the schemes promoted by NABARD?

A, Kisan Credit Card (KCC)

B. Capital Investment Subsidy Scheme
C. Special Economic Zone Scheme

D. Rural Innovation Fund

E. Tribal Development Fund

Choose the correct answer from the options given below:

1. A, B, C & D Only
2.B,C,D & E Only
3.A.B.D & E Ounly

4.A.C,D &E Only

Options 1. 1

2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCQ
53307219549
53307276161
53307276162
53307276163
53307276164
Answered

3
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Q.133 Which of the following are the principal functions of UNCTAD?
A. To promote International trade with a view to accelerating economic development.
B. To assist economic development of developing countries by promoting private enterprises.
C. To negotiate multinational trade agreements.
D. To make proposals for putting its principles and policies into effect.
Choose the correct answer from the options given below:
I.A, B & C Only
2.B.C & D Only
3.A.B &DOuly
4. A, C&D Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219551
Option 1 ID : 53307276169
Option 2 ID : 53307276170
Option 3 ID : 53307276171
Option 4 ID : 563307276172
Status : Answered
Chosen Option : 4
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Q.134
Arrange the following steps of securitisation in a correct sequence.
A. Forming SPV
B. Transfer to SPV
C. Credit Enhancement
D. Seasoning
E. Issuance of securities
Choose the correct answer from the options given below:
1.A,B,C,D,E
2.B,C,A D, E
3D.C,A B E
4.D.C.B,AE
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219530
Option 1 ID : 53307276085
Option 2 ID : 53307276086
Option 3 ID : 53307276087
Option 4 ID : 53307276088
Status : Answered
Chosen Option : 3
Q.135 ... i . L .
Assessment made not only from inside the company but from groups outside the organisation is
known as:
1. 360 - Degree Feedback
2. 720 - Degree Feedback
3. Performance Appaisal
4. MBO
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219508
Option 1 ID : 53307275997
Option 2 ID : 53307275998
Option 3 ID : 53307275999
Option 4 ID : 53307276000
Status : Answered
Chosen Option : 1
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Q.136 . . .
Match the List-TI with List-IT
LISTI LISTII
Trader Function/ Activity
A, |Hedger I. |Buving and selling shares quickly
B. | Speculator II. |Reducing investment Risk
C. |Arbitrageur III. | Taking increased Risk willingly
D. |Scalper IV. | Taking advantage of the mismatch of the prices in two marktes
Choose the eorrect answer from the options given below:
1. A-I, B-II, C-II1, D-IV
2. AL B-L, C-IIL, D-IV
3. A-1L B-III, C-1V, D-1
4. A-IIL B-IV, C-11, D-1
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219566
Option 1 ID : 53307276229
Option 2 ID : 53307276230
Option 3 ID : 53307276231
Option 4 ID : 563307276232
Status : Answered
Chosen Option : 3
Q.137 . . . . .
The management of Vibgyor Fabrics subscribes to the NOI approach and believes that its cost of
debt and overall cost of capital will remain at 9% and 12% respectively. If the debt-equity ratio is
0.8, what is the cost of equity?
1. 16.4%
2.12.4%
3. 14.4%
4.8.12%
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219500
Option 1 ID : 53307275965
Option 2 ID : 53307275966
Option 3 ID : 53307275967
Option 4 ID : 53307275968
Status : Answered
Chosen Option : 3
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Q.138 Which of the following section of Companies Act, 2013 deals with amalgamation, absorption and
reconstruction?
1. Section 139
2. Section 219
3. Section 319
4. Section 391
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219494
Option 1 ID : 53307275941
Option 2 ID : 53307275942
Option 3 ID : 53307275943
Option 4 ID : 53307275944
Status : Answered
Chosen Option : 1
Q.139 . . . . . .
Wheo among the following has given this definition of CSR? “Wealth created from society has to
be ploughed back into society.”
1. Milton
2. Henry Ford
3. Mahatma Gandhi
4. Kay and Silberston
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219487
Option 1 ID : 563307275913
Option 2 ID : 563307275914
Option 3 ID : 563307275915
Option 4 ID : 53307275916
Status : Answered
Chosen Option : 3
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Q.140
Which of the following are the price-adaption strategies?
A. Price discounts and allowances
B. Target return pricing
C. Geographical pricing
D. Differentiated pricing
E. Going rate pricing
Choose the cerrect answer from the options given below:
1. A, C & E Only
2.B,C & D Only
3.A,C&DOaly
4. A.B & D Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307219552
Option 1 1D : 53307276173
Option 2 ID : 53307276174
Option 3 ID : 53307276175
Option 4 ID : 53307276176
Status : Answered
Chosen Option : 1
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Comprehension:

Solar Tech Ltd., a global solar panel manufacturer, sought to expand into emerging markets to
counteract stagnation in its domestic market. After analyzing global opportunities, the company
targeted India due to its favourable renewable energy policies and growing demand for
sustainable energy solution.

Solar Tech Ltd. established a joint venture with a local firm to leverage their market knowledge
and distribution network. They also customized their products to meet local regulatory standards
and climatic conditions. Despite initial challenges, such as navigating regulatory complexities
and cultural differences, solar tech achieved a 25% market share within two vears.

The success of the company was attributed to strategic partnerships, product customization and

effective market entry tactics. However it faced ongoing issues with supply chain- disruption and
the need for continuous innovation to stay competitive.

SubQuestion No : 141

Q.141 . - . . .
What was a key factor in Solar Tech. ability to achieve a 25% market share in India?
1. Price reduction
2. Aggresive advertising campaigns
3. Strategic partnership and product customisation
4. Government subsidies
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

MCQ
53307219577
53307276269
53307276270
53307276271
53307276272
Answered

3
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Comprehension:

Solar Tech Ltd.. a global solar panel manufacturer, sought to expand into emerging markets to
counteract stagnation in its domestic market. After analyzing global opportunities, the company
targeted India due to its favourable renewable energy policies and growing demand for
sustainable energy solution.

Solar Tech Ltd. established a joint venture with a local firm to leverage their market knowledge
and distribution network. They also customized their products to meet local regulatory standards
and climatic conditions. Despite initial challenges, such as navigating regulatory complexities
and cultural differences, solar tech achieved a 25% market share within two vears.

The success of the company was attributed to strategic partnerships, product customization and

effective market entry tactics. However it faced ongoing issues with supply chain- disruption and
the need for continuous innovation to stay competitive.

SubQuestion No : 142
Q.142 . I . .
How did Solar Tech Ltd. initially approached the market entry into India?
1. By setting up a wholly owned subsidiary
2. Through a joint venture with a local firm

3. By acquiring a local competition

4. By exporting products directly

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 53307219576
Option 1 ID : 53307276265
Option 2 ID : 53307276266
Option 3 ID : 53307276267
Option 4 ID : 53307276268

Status : Answered

Chosen Option : 2
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Comprehension:

Solar Tech Ltd.. a global solar panel manufacturer, sought to expand into emerging markets to
counteract stagnation in its domestic market. After analyzing global opportunities, the company
targeted India due to its favourable renewable energy policies and growing demand for
sustainable energy solution.

Solar Tech Ltd. established a joint venture with a local firm to leverage their market knowledge
and distribution network. They also customized their products to meet local regulatory standards
and climatic conditions. Despite initial challenges, such as navigating regulatory complexities
and cultural differences, solar tech achieved a 25% market share within two vears.

The success of the company was attributed to strategic partnerships, product customization and

effective market entry tactics. However it faced ongoing issues with supply chain- disruption and
the need for continuous innovation to stay competitive.

SubQuestion No : 143
Q.143 . . . ) .
Despite its success, what ongoing issue did Solar Tech Ltd. encounter?

1. Decreasing customer base
2. Increased competition from local brands
3. Supply chain disruption

4. Difficulties in securing financing

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 53307219579
Option 1 ID : 53307276277
Option 2 ID : 53307276278
Option 3 ID : 53307276279
Option 4 ID : 53307276280

Status : Answered

Chosen Option : 3
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Comprehension:

sustainable energy solution.

and cultural differences, solar tech achieved a 25% market share within two vears.

the need for continuous innovation to stay competitive.
SubQuestion No : 144
Q.144

1. Declining domestic demand
2. Favourable policies and growing demand in India
3. Lower production cost in India

4. Saturated international market
Options 1. 1
2.2
3.3
4.4

Solar Tech Ltd.. a global solar panel manufacturer, sought to expand into emerging markets to
counteract stagnation in its domestic market. After analyzing global opportunities, the company
targeted India due to its favourable renewable energy policies and growing demand for

Solar Tech Ltd. established a joint venture with a local firm to leverage their market knowledge
and distribution network. They also customized their products to meet local regulatory standards
and climatic conditions. Despite initial challenges, such as navigating regulatory complexities

The success of the company was attributed to strategic partnerships, product customization and
effective market entry tactics. However it faced ongoing issues with supply chain- disruption and

What was the primary reason for Solar Tech. to expand its business to Indian market?

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCQ
53307219575
53307276261
53307276262
53307276263
53307276264
Answered

2
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Comprehension:

Solar Tech Ltd.. a global solar panel manufacturer, sought to expand into emerging markets to
counteract stagnation in its domestic market. After analyzing global opportunities, the company
targeted India due to its favourable renewable energy policies and growing demand for
sustainable energy solution.

Solar Tech Ltd. established a joint venture with a local firm to leverage their market knowledge
and distribution network. They also customized their products to meet local regulatory standards
and climatic conditions. Despite initial challenges, such as navigating regulatory complexities
and cultural differences, solar tech achieved a 25% market share within two vears.

The success of the company was attributed to strategic partnerships, product customization and

effective market entry tactics. However it faced ongoing issues with supply chain- disruption and
the need for continuous innovation to stay competitive.

SubQuestion No : 145
Q.145 ‘ ,
‘What were some of the challenges Solar Tech. Ltd. faced in Indian Market?

1. Labour shortage and high tariffs
2. High inflation rate
3. Political instability and poor infrastructure

4. Regulatory complexities and cultural differences

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 53307219578
Option 1 ID : 53307276273
Option 2 ID : 53307276274
Option 3 ID : 53307276275
Option 4 ID : 53307276276

Status : Answered

Chosen Option : 4
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Comprehension:

The finance manager of ABC Ltd., a company based in Bangalore has gone on vacation to an
island with his family. The island has very poor connectivity and hence he is unable to make or
receive calls. The CEO of the company send him a SMS to provide certain information related to
financial statement as he was unable to connect due to network problems and CEO has a meeting
with the chairman next day.

The finance manager has no documents with him and he was also not able to take the help of
internet to send the desired information due to lack of internet facility on the island. On the basis
of his memory, he was able to send the following information to the CEO through SMS, which
was delivered after 2 hours.

a) Current Debt to Total Debt Ratio : 0.40

b) Total Debt to owner’s equity 1 0.60

¢) Fixed Assets to owner’s equity  : 0.60

d) Total Assets turnover : 2 Times
e) Inventory turnover : 8 Times
f) Owner's equity 2 1,00,000

The CEOQ is puzzled to get the SMS. as he was unable to find the required information. You are
required to help the CEO in finding relevant information from the SMS as indicated in the
following questions:

SubQuestion No : 146

Q.146
What would be the value of sales as per the data given in case.
1.3 1,60,000
2.%2,20,000
3.%3,00,000
4.3 3,20,000
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

MCcQ
53307219584
53307276293
53307276294
53307276295
53307276296
Answered

1
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Comprehension:

The finance manager of ABC Ltd., a company based in Bangalore has gone on vacation to an
island with his family. The island has very poor connectivity and hence he is unable to make or
receive calls. The CEO of the company send him a SMS to provide certain information related to
financial statement as he was unable to connect due to network problems and CEO has a meeting
with the chairman next day.

The finance manager has no documents with him and he was also not able to take the help of
internet to send the desired information due to lack of internet facility on the island. On the basis
of his memory, he was able to send the following information to the CEO through SMS, which
was delivered after 2 hours.

a) Current Debt to Total Debt Ratio : 0.40

b) Total Debt to owner’s equity 1 0.60

¢) Fixed Assets to owner’s equity  : 0.60

d) Total Assets turnover : 2 Times
e) Inventory turnover : 8 Times
f) Owner’s equity :Z1,00,000

The CEOQ is puzzled to get the SMS. as he was unable to find the required information. You are
required to help the CEO in finding relevant information from the SMS as indicated in the
following questions:

SubQuestion No : 147

Q.147 S
What would be the value of fixed assets as per the ratio given in the case?
1. % 50,000
2. 260,000
3.270,000
4.7 75,000
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2D :
Option 3 ID :
Option 4 ID :
Status :
Chosen Option :

MCcQ
53307219581
53307276281
53307276282
53307276283
53307276284
Answered

2
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Comprehension:

The finance manager of ABC Ltd., a company based in Bangalore has gone on vacation to an
island with his family. The island has very poor connectivity and hence he is unable to make or
receive calls. The CEO of the company send him a SMS to provide certain information related to
financial statement as he was unable to connect due to network problems and CEO has a meeting
with the chairman next day.

The finance manager has no documents with him and he was also not able to take the help of
internet to send the desired information due to lack of internet facility on the island. On the basis
of his memory, he was able to send the following information to the CEO through SMS, which
was delivered after 2 hours.

a) Current Debt to Total Debt Ratio : 0.40

b) Total Debt to owner’s equity 1 0.60

¢) Fixed Assets to owner’s equity  : 0.60

d) Total Assets turnover : 2 Times
e) Inventory turnover : 8 Times
f) Owner’s equity :Z1,00,000

The CEOQ is puzzled to get the SMS. as he was unable to find the required information. You are
required to help the CEO in finding relevant information from the SMS as indicated in the
following questions:

SubQuestion No : 148

Q.148
Compute the value of inventory from the data given in case.
1. 240,000
2. 245,000
3.2 50,000
4.% 60,000
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

McQ
53307219585
53307276297
53307276298
53307276299
53307276300
Answered

1
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Comprehension:

The finance manager of ABC Ltd., a company based in Bangalore has gone on vacation to an
island with his family. The island has very poor connectivity and hence he is unable to make or
receive calls. The CEO of the company send him a SMS to provide certain information related to
financial statement as he was unable to connect due to network problems and CEO has a meeting
with the chairman next day.

The finance manager has no documents with him and he was also not able to take the help of
internet to send the desired information due to lack of internet facility on the island. On the basis
of his memory, he was able to send the following information to the CEO through SMS, which
was delivered after 2 hours.

a) Current Debt to Total Debt Ratio : 0.40

b) Total Debt to owner’s equity 1 0.60

¢) Fixed Assets to owner’s equity  : 0.60

d) Total Assets turnover : 2 Times
e) Inventory turnover : 8 Times
f) Owner’s equity :Z1,00,000

The CEOQ is puzzled to get the SMS. as he was unable to find the required information. You are
required to help the CEO in finding relevant information from the SMS as indicated in the
following questions:

SubQuestion No : 149

Q.149
Find out the value of total assets from the given information
L. % 80,000
2.3 1.20.000
3.% 145,000
4.3 1,60,000
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 1 ID :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

MCcQ
53307219583
53307276289
53307276290
53307276291
53307276292
Answered

4
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Comprehension:

The finance manager of ABC Ltd., a company based in Bangalore has gone on vacation to an
island with his family. The island has very poor connectivity and hence he is unable to make or
receive calls. The CEO of the company send him a SMS to provide certain information related to
financial statement as he was unable to connect due to network problems and CEO has a meeting
with the chairman next day.

The finance manager has no documents with him and he was also not able to take the help of
internet to send the desired information due to lack of internet facility on the island. On the basis
of his memory, he was able to send the following information to the CEO through SMS, which
was delivered after 2 hours.

a) Current Debt to Total Debt Ratio : 0.40

b) Total Debt to owner’s equity 1 0.60

¢) Fixed Assets to owner’s equity  : 0.60

d) Total Assets turnover : 2 Times
e) Inventory turnover : 8 Times
f) Owner’s equity :Z1,00,000

The CEOQ is puzzled to get the SMS. as he was unable to find the required information. You are
required to help the CEO in finding relevant information from the SMS as indicated in the
following questions:

SubQuestion No : 150

Q.150
Identify the value of long term debt from the given data
1. % 32,000
2.3 35,000
3.% 36,000
4.3 39,500
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 1 ID
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

Mmca
53307219582

: 53307276285

53307276286
53307276287
53307276288
Answered

3
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